
SKID PLATE INSTALLATION MANUALEN

MONTAGEEINLEITUNG FÜR UNTERBODENSCHUTZSYSTEMDE

For: OUTLANDER G2 (STANDARD/ MAX/ XMR) (2017-)

30 min45 min

2444.7277.1





3

S - 10;
S - 13 S - 4;

EN Ratchet
DE Ratsche

HEX

SCREW FORCE:
M6 - 10 Nm; M8 - 30 Nm

1

16

2 3 4

9 10
x1 x1 x1 x1

x1 x1

5

x2 x2 

6

14

M8x30 x4

13

M8x25 x18

8

x4M8

7

x8M8
18

 8

17

 8

x2

M8x20 x2

15

19

 8

M8x35 x2

x14

12

M8x20 x8

11

x8 x12

M8

A

B

C

E

D



4

FRONT

13;18



5

4
3

A
B

13;18 15;19

16;18

13;18



6

7

FRONT

12;17

12;17

8 8

8 8

5 6

6 5



7

C

FR
O

N
T

9

10

13;1813;18

14;19

14;19 14;19

14;19

13;1813;18



8

FR
O

N
T

11

7
D

13;19
13;19

13;19

10



9

FRONT

FR
O

N
T

13;19

13;18

13;18

13;19

E

M8=30 Nm M6=10 Nm


